(1) Implement Key Board

1.1 Press 0/1/2/3/4/5/6/7/8/9 and show them in the seven-segment display.
When a new number is pressed, the previous number is refreshed and over
written.

1.2 Press a/s/m (addition/subtraction/multiplication) and show them in the
sevensegment display as your own defined A/S/M pattern. When you press
“Enter”, refresh (turn off) the seven-segment display.

10:
Inout: PS2_DATA, PS2_CLK
Input: rst, clk
Output: [7:0]seg, [3:0]ssd

Block diagram:
AR E R ZH LT F{E module THEE » 4371y KeyboardDecoder LK
display_decoder -

52
cli » ——key_down— [ — —/—» ssd
. . 4
rat > KeyboardDecoder —Iast_change—;—r display_decoder
FS2_DATA ——key valid———» I/ —» seg
PS2_CLK —™ 8

1. KeyboardDecoder: [It module &% FHGFEE A o] DAFS AL 58 B AT
EHVER5E (keydown) ~ 53T — (B R/ ERV T HERSE (last_change) DLz % N B
1 s Y B AR5 (key_valid) ©

2. display_decoder: HCECHURESEUR G —(E#G L NAVTZHE - E45 1~9 H
A~S~M; BT enter AR TEEEURES ©



Logic diagram:
display decoder: FtERResinmdT —(E ez MaviziE - aiE 1~9 Al
A~S~M; EHT enter FERIRIH TR RS -

f
Mu gl letter

last_change —/ |
g

key_valid

& I key_valid B » (KRATEYIRIE - [RILLEE letter = last_change ; 25 H3H
key_valid > QIR GHEILIEYIRIE > 58 letter 4EFFAEE o

01110 —

Pl
41111 ——

last_change == 9'hbA

ETE T enter §EH - g last_change = 9'h5A i > BEfECERHURES - BE(HE
HHAVEER -

RS ¥ letter FEIEN BT USRS |

letter =9'h70 — seg =8'b0000_0011 (ZE7< 0)
letter =9'h69 — seg=8'b1001_1111 (Z < 1)
letter =9'h72 — seg=8'b0010_0101 (ZE < 2)
letter = 9'h7A — seg =8'b0000_1101 (#H ~ 3)
letter =9'h6B — seg = 8'b1001_1001 (ZE~ 4)
letter =9'h73 — seg=8'b0100_1001 (/< 5)
letter =9'h74 — seg =8'b0100_0001 (/1< 6)

letter =9'h6C — seg =8'b0001_1111 (ZE1~ 7)



letter =9'h75 —
letter =9'h7D —
letter =9'h1C —
letter =9'h1B —
letter =9'h3A —

default £ seg=8b0111_0001 (&~ F)

seg = 8'b0000_0001 (%571~ 8)
seg = 8'b0000_1001 (%~ 9)
seg = 8'b 0000 _0101 (E 1~ a)
seg=8'b 1111 1101 (B~ -)
seg = 8'b 1001_0001 (FE/ 1~ *)

& Fi{E module ThHAE > FTLURHEIE T FEVELT 1~9 LUK A/S/M BRAE L B2 5

e L e

I/0 pin assignment:

seg[7] | seg[6] | seg[5] | seg[4] | seg[3] | seg[2] | seg[l] | seg[O]
W7 W6 us V8 us V5 u7 V7
ssd[3] ssd [2] ssd [1] ssd [0] clk rst
W4 V4 u4 u2 W5 R2
PS2_CLK PS2_DATA
C17 B17




(2) Implement a single digit decimal adder using the keyboard as the
input and display the results on the 14-segment display (The first two
digit are the addend/augend, and the last two digits are the sum).

10:
Inout: PS2_DATA, PS2_CLK
Input: rst, clk
Output: [7:0]seg, [3:0]ssd

Block diagram:
AR EEFZEMHLLUT module THEE » 4751 s KeyboardDecoder ~ fsm ~ /AR
(adder) ~ [&5E25(freq_div) ~ scan control(scan_ctl) DL = R BE R FERESS (display) o

[—last_change——/—» -/ —addend-»|
KeyboardDecoder = g fam 9 adder

—key_valid—»| —é—augend—i i
4
L
l 4_0\9\13_)
I—digitz—>{

scan_ctl display  [l— e

freq_div 14 gigiti—| ,
4 -/ —ssd_in—»
! digit0—» 4
4
|—ssd_ctl_en T
2

1. KeyboardDecoder: [If; module ji&f g SHERER G5 AT ARG ROV L2 51 H i eds

EHENGE (keydown) ~ AT —{E R IERVFES#ENGE (last_change) DR % T B

£ — SR IF Y AIEHSE (key_valid)

2. fsm: 7753 E AR HET S R i R 2D (B B

3. adder: S ERHERIE % FHRAR IIERI IS & 5 2148 > Z 1R 4
digit #Y BCD =45 scan control &{Eiig A -

4. BRIEZS: gt 2bit Ay ssd control enable /E & scan control HYFZETE -

5. scan control: 4 adder fiisi Y digit3~0 DL [AE2RA964 4 ssd control enable

TE Ry A » 2 R R 80N - A DGE 4 (R S H U H O 28R
HVEF > WEBIRIE AR 4 (B8R es [FIFEURAY -

6. TERRENIEIGES: 1KF scan control 4511 A{E (ssd_in) i i fEHE 1R BN+

EviURnas b o

clkc

PS2_DATA
P52_CLK




Logic diagram:
fsm: FiE ARG HETZ R S A R RN E S B -
condition / addend , augend

key_wvalid / last_change , 'h70

o ~key_valid /
~key_valid / addend , augend
addend , augend

key_valid / last_change , 9h70

lkey_valid / addend , last_change

~key_valid / C'/ '\3 ~key_valid /

addend , augend addend , augend

key_valid / addend | last_change

HERRER 00 -

(1-1) 0001 » ‘H key_valid F5EH - RFHFHEGHZ T > H addend ZetIEE
it Al F augend B2F O -

(1-2) 0000 * ;4 key_valid :fl5% > addend - augend 45 ARYE -

(2-1) 01—10 » ‘A key_valid FHEEEF - (CFRATFHEAHE - BRI EAE EY -
F addend Lk &R} » A6KF augend 52/F O -

(2-2) 01—01 » ;4H key_valid :i5% > addend - augend 45 ARYE

(3-1) 10>11 > ‘A key_valid F5EEF - (CFRATZHHHL T > addend 4EFFIRAHY
B > H augend ZCER L ERL

(3-2) 10>10 > }4H key_valid 2% > addend - augend 4EFEARYE -

(4-1) 11—>00 > ‘A key_valid F&EHF - (CFRA AL - BRI 248 EHY -
addend 4EFFFANIE - F augend FCEERILE R -

(4-2) 11—>11 > }4H key_valid 5% > addend - augend 45 ARYE



adder: JofFERHERS 1% P S IR IR IR 15 2 48R » 2 1% 8EHARY 4 (1
digit /Y BCD 2= 45 scan control & {Efig AL °

4d0 —— 'h70

4'd1 —— 9'hE9

4d2 —— 9h72

4d3 —— 9h7A

4'd4 —— YhEB

445 —— Oh73 —/—— digit3

4'df ——{ 974 4

4d7 ——{9hBC

4d8 —— 9h75

4d9 ——9h7D

4d0 — else
addend

4d0 —— 9'h70

4d1 —— 9hEg

4d2 —— 9h72

4d3 —— 9h7A

4'd4 —— 9hE6B

#d5 —— 9'h73 —/—— digit2

4d6 ——{ Ih74 4

4d7 ——{9h8C

4d8 ——{ 9n75

4d9 ——{9h7D

4d) ——| else
augend

TeRFE SR AN AR R (AU P B ME R B (AT TAH N sum = digit3 + digit2

4d1 —
. I—— digit1
Pl 4
4dd —
sum - 4'd10—
|+—— digit0d
sum

sum == 4'd9

EHARIRHRE L - A8 =0 (B8 = sum ; BHEFIAIL - 8 =1 (&



fir#g =sum—10 -

[AEzs: Wi 2bit i ssd control enable {E & scan control FY#2¢ITE o

!

{cnt_h,clk_ctl ent_[}

1'b1
o] o f— ik _cil
MU i —u:nt_tmmJ_ 2
il
26'00 ——| ’7} a_
clk

icnt_h,clk_ctl,cnt_[} == 26'd50000000

¥ clk £ 100MHz ~ _E[R B 50M HY counter HHHYEE 16 ~ 17bit LA & /E4S scan
control FYFZEITE -

Scan control: ¥ adder BYigH digit3~0 DL [ 4EEE i H ssd control enable
TE Rl A > FEE R R R o o DGR 4 (A CERBURES S B EURE CHER
T BRI BRI 4 ([EERas R R -

ssd_ctl en=00 — ssd _ctl=0111
ssd_ctl en=01 — ssd _ctl=1011
ssd_ctl_ en=10 — ssd_ctl=1101
ssd_ctl en=11 — ssd_ctl=1110

PO B U et R » ssd_ctl_en = 00 B—BR S5 — I = B AU 25 (H20
#) 5 ssd_ctl_en =01 BE—FE~EE —(ETEE R RS (IIEY) 5 ssd_ctl_en =10 Bf— &
e = (E B ??ET?:%(Z'*D—HE%) ; ssd_ctl_en = 11 i —~BUR S VO{E T LR85
(HEFOMEH 8 - DA R R ARy 5 =R R A BT R YRR

7-segment display decoder: /4 scan control 4507 A{E (ssd_in)i5 1B fEHE 7 1%
BT R~ Es I o

in=0 — segs=8'b0000_0011
in=1 — segs=8'b1001_1111
in=2 — segs=28'b0010_0101
in=3 — segs=8'b0000_1101



in=4
in=5
in=6
in=7
in=8

in=9

Vbbbl

segs = 8'b1001_1001
segs = 8'b0100_1001
segs = 8'b0100_0001
segs = 8'b0001_1111
segs = 8'b0000_0001
segs = 8'b0000_1001

default %y segs=8b1111_1111(£H%)

&Ll EDNRE » ATLLSE R — (R SR AR ARG & M i ANLEURE LR R4 EHY

single digit fJ[IE&% °

I/0 pin assignment:

seg[7] | seg[6] | seg[5] | seg[4] | seg[3] | seg[2] | seg[1] | seg[O]
W7 W6 us V8 us V5 u7 V7
ssd[3] ssd [2] ssd [1] ssd [0] clk rst
W4 V4 u4 u2 W5 R2
PS2_CLK PS2_DATA
C17 B17




(3) Implement a two-digit decimal adder/subtractor/multiplier using
the right-hand-side keyboard (inside the red block). You don’t need to
show all inputs and outputs at the same time in the 7-segment display.
You just need to show inputs when they are pressed and show the
results after “Enter” is pressed.

10:
Inout: PS2_DATA, PS2_CLK
Input: rst, clk
Output: [7:0]seg, [3:0]ssd

Block diagram:

AR EEFTEE LU module TIgE » 537l Ky KeyboardDecoder ~ fsm ~ GH5%f
#%(data decoder) ~ £1E 2%(calculator) ~ mode ~ [RAEES(freq_div)
scan_control(scan_ctl) DL Sz = ER R it 25 (display) e

ot

-

b5

ok —

—out1—y
~D\|1274
data_decoder outa— calculator

outs—

rst 4
PS2_DATA —
PS2_CLK

{—fast_chang:
KeyboardDecoder i

il

IS

N

:

m ‘

freq_div

ﬂ\"g\t} | c»;ln ‘ —_—— s
‘ ulngZ | m?nu 4

14 14 g4 14

U

scan_ctl display wé~—> seg

[r—ssd_in—»]
4

1. KeyboardDecoder: [l module ;&2 5 SRR 5k AT UG RITREE F2 8 H RiTH%
Z RS (keydown) ~ AT —{E W ERYTE S ER 5 (last_change) DL Kzd% I B
TR Y AR5 (key _valid)

2. fsm: B ARSI SR R R SIS B » IR
(mode)HAE BRI RIFLLE AL -

3. SRGRREHESS: 2ol RER: BCD AT S calculator T LLiE/FHEES -

4. 5t8Es: RKERHEITINSURERNERE - KGR T45 mode &R A
5. mode: {{K{5 fsm 450V KIERSR (show) BRI AE A TR RE: FRURHVE
HE o RFBEFET I &R %S scan control & {F A -

6. FRAEZS: #iH 2bit AY ssd control enable {E B scan control AYFZEHIE -

7. scan control: ¥} mode (155 4 digit3~0 DL FRAESE# 4 ssd control enable
TERMA » EEYRRTECT - 7D 4 (B RS & R R
HIE T WERIRIE ERACE: 4 (A URESE TR ©



8. TERRE RIEES: 1 scan control 45HYH AAE (ssd_in) i Bt~ 14 BT+
R es b e

Logic diagram:
fsm: i E AR HET R s B R 2 M E R EE - Wz IGIRRE 2R (mode)
AT SRR L E AL

.
1'd1 *
Q cnt

cnt_tmpJ

-

key_valid clk

[=)

A"
3]

NS — RS e A K key_valid 515% > RILEEET—1{E one-bit HY

counter » £ — X key_valid (IFHEEI » 3 ent 711 1 » 38 cnt AR - FTLL
3 fsm 1 T —J RIS 1 i — (B state -

condition / value_tmp4 , value_tmp3 , value_tmp2 , value_tmp1 , show , cal

HEIRREF 000 -

(1) 000—>001 - #y A\ S5 —4HEFHY S — B - [ value_tmpl SCERILER} - T2
1 value_tmp2 2% 0 ; show = 2’b00 (R —4HEF) -

(2-1) 001011 - i AGHER Ry ERF5% - H cal SCBRILERRFR 5 show = 2'b01 (5
R ARVERRTE) - HERERAEE -

(2-2) 001010 » B AZE—4HE T AYEE —(EECT > A value_tmpl SCERIEER > H
value_tmp2 &2k JH A valuel BYME > #FHEHFZE 1%L show = 2’b00(FH~EF—4H
) -

(3) 010011 -~ # AGHSE R R TR - Y cal SLERILALERTSE 5 show = 2’b01(&
R ARVERRTE) - HERERAEE -

(4) 011100 » i A5 —(HE T AV —(EHT > H value_tmp3 GCERILER} - 2
1 value_tmp4 % 0 ; show = 2’b 10(8E 55 —4HELF) -

(5-1) 100—000 - 5 A 5% By enter §# > show = 2’b1 (B REELER) - HERFTH



BN

(5-2) 100101 - B A5 —2HBFHIES —(EEF > H value_tmp3 ECERILE R -
value_tmp4 4T3k A value3 HYME » #FHAFZE T8 5 show = 2’b10(FREF —4H
) -

(6) 101—000 - 5y AFHGE f enter §# > show = 2’b11(HUREFELER) - HERFrAE
HHAAN g -

value_tmp1 —/ D oQ—/— valuel
g g
| o—
value_tmp2 —/ o—/— wvalue2
9 9
[ a—
value_tmp3 —/ o—/— value3
g g
*— a—
value_tmpd4 —/ A—/—— wvalued
g g
> o—
clk

1E clk 2S5 2AE value_tmp HY{EHH A Z] 21 value # -

SNGRARRE RS HrE kSR BCD AT calculator B DU TIEEL «

£d0 —— on70 , ,
491 —— 969 4d) = 9n70 40 —— 970
o 10 o =
443 — oh7A . .
= 443 — Oh7A 4¢3 —|on7A
i s
. . . 405 —{on73|—i— o2 405 — on73 —/— ous
#df o 406 —|on7a| * a06 —on7a| *
4d7 ——|¥heC 447 ——| oh6e 447 ——| OhsC
4d3 ——| 975 2d8 ——| oh75 408 ——| om75
£d9 ——| 97D £69 ——| 97D 249 —— oh7D
4'd15 —|default 2415 ——{default 4015 ——|default
valuel value3

valug2



4d0 — 9'hT0 \
241 —| oheo
sg2 —| onm2
243 —— gn7A 4'd10 —— 9'h74
2a4 —| onee )
4d5 ——{ Oh73 —/—— outd 4'd11 —— ¥h7EB ' | t
s —oma) ga12 —onre| 4
#d7 —| on6e 4
S 4'd15 ——default
240 —|on7D
4015 ——|default /(
valued I:al

R 258 SRR RS RS R P S FE RV - B R RTSE - PRS2 caleulator
HETTHEE -

BT EES: RERPEITIEURERIVER % &SR itH4S mode EIEHA

(sign HlE & & ZHURE5E)
(sum_sub £y AR 45 SRV AR EHE)

4'd11
sign
4'd15
datad * 10 + data3 - (data2 * 10 + data1)
!—— sum_sub
data2 * 10 + datal - (datad * 10 + data3d)

dataZ * 10 + data1 »= data4 * 10 + data3

SeFlET M sH B AR/ NER (7 > 55— SHEFROK - sign = 4d15(REDRESR) -
sum_sub = S5 —HB R SR BT ¢ R BT EOK 0 sign = 4d11(BUR
E5%) > sum_sub = 55 AHEFR S —4HEE



(data2 = 10 = data1) * (datad4 * 10 + data3) - sum3 * 1000 - sum2 * 100 - sum1 * 10 ——

B

cal =

cal =

cal =

4d15 —
4dis ——
(data2 = 10 + datat) * (datad4 = 10 + data3) / 1000 ——
4dis ——

(data2 * 10 + data1 + datad4 * 10 = data3) / 100 ——

sign

((data2 * 10 + data1) * (datad4 * 10 + data3) - sum3 * 1000) / 100 ——
4di1s —

((data2 * 10 + datat + datad * 10 + data3) - sum2 * 100}/ 10 ——

sum_sub /10 —

((data2 * 10 + data1) * (data4 * 10 + data3) - sum3 * 1000 - sum2 * 100) / 10 ——
4d1s —

(data2 * 10 + data1 + datad * 10 + data3) - sum2 * 100 - sum1 * 10 ——
sum_sub - sum1 * 10 ——

4dis ——

BB TTSE (cal) BEFE sum B ANIDE ~ BUESGE IR ENAE

10 — By ANELERE
11 — B ARCESS R
12 — g ASRALS R -

sum3

sum2



mode: {4 fsm 45HYEFIENSE (show) BEFEEER {1 S AF TR 88 RRURHYER, -
AR B AT A B 44 scan control & E#f A -

valuel—— 2000
I 2'b01
ta j—  digitd
value3 2’010 4
sumd —— 2'b11
show
value2—— 2000
4'd15 —— 2'b01 ; digit1
valued 2'b10 4
sumi —— 2'b11
show
4d15 —— 2'b00
4'd15 —— 2'b01
j—— digit2
4d15 —— 2b10 4
sum2 —— b1
show
4d15 —— 2'b00
4'd15 —— 2'b01
——— digit3
4d15 —— 2b10 4
sum3 —— b1
show
show = 2’b00 — FE B —4HEE
/4/—‘/-‘/’-‘!;1
show =2'b01 — ZE i A MY ELRF5%
show = 2'b10 — BE/REE _4HET
show =2'b11 — B /REELERE



[AEzs: Wi 2bit i/ ssd control enable {E & scan control FY2¢ITE o

!

{cnt_h,clk_ctl ent_[}

191 —
o] o f— ik _cil
MU i —u:nt_tmmJ_ 2
il
2600 ——— ’7} a—
clk

icnt_h,clk_ctl,cnt_[} == 26'd50000000

¥ clk B 100MHz ~ _E[R B 50M HY counter FHHYEE 16 ~ 17bit LA & /E4E scan
control HYZEITE -

Scan control: ¥ mode {yigiH digit3~0 LI [4:3E25 1 4 ssd control enable
{E Ryl A u_ PR ER R - T DAEE 4 (A R R S B R E O
HE T - WEEIRIE B AR 4 (8RS R EURY

ssd_ctl en=00 — ssd _ctl=0111
ssd_ctl en=01 — ssd _ctl=1011
ssd_ctl en=10 — ssd _ctl=1101
ssd_ctl en=11 — ssd_ctl=1110

(RBFEEUR 1 54080 2. W ARVERTRR9E 3. S5 40T 4. EELER)
VOB LR es i T » ssd_ctl_en = 00 Ff—#UREE —(ECEEURES
ssd_ctl_en = 01 i%—F 58 (E e R <58 5 ssd_ctl_en =10 B~ 8~ =(E+
EGREUTNES 5 ssd_ctl_en = 11 Bf—~BURE UE CELEURES - DIPR S m8RAY 7 =0
ZERN AR S R AR

7-segment display decoder: /& scan control 4507 A{E (ssd_in)iE 1B fgHE 7 1%
BT R~ Es I o

in=0 — segs=8'b0000_0011
in=1 — segs=8'b1001_1111
in=2 — segs=28'b0010_0101
in=3 — segs=28'b0000_1101
in=4 — segs=8'b1001_1001



in=5
in=6
in=7
in=8

in=9

Vbbb

segs = 8'b0100_1001
segs = 8'b0100_0001
segs = 8'b0001_1111
segs = 8'b0000_0001
segs = 8'b0000_1001

in=10 — segs = 8'b 0000_0101 (%)
in=11 — segs=8'b 1111 1101(J#5%%)
in=12 — segs = 8'b 1001_0001(3[E5%)
default % segs=8b1111_1111(£HKZ)

S Ll EDhgE - WILISER— (B IIEA ~ BOE ~ FRTATNAEHY two-digit decimal

adder/subtractor/multiplier °

I/0 pin assighment:

seg[7] | seg[6] | seg[5] | seg[4] | seg[3] | seg[2] | seg[1] | seg[O]
W7 W6 us V8 us V5 u7 V7
ssd[3] ssd [2] ssd [1] ssd [0] clk rst
W4 V4 U4 u2 W5 R2
PS2_CLK PS2_DATA
C17 B17




(4) Implement the “Caps” control in the keyboard. When you press A-Z
and a-z in the keyboard, the ASCII code of the pressed key (letter) is
shown on 7-bit LEDs.

4.1 Press “Caps Lock” key to change the status of capital/lower case on the
keyboard. Use a led to indicate the status of capital/lowercase in the keyboard and
show the ASSCII code of the pressed key one 7-bit LEDS.

4.2 Implement the combinational keys. When you press “Shift” and the letter keys
at the same time. The 7-bit LEDs will show the ASCII code of the
uppercase/lowercase of the pressed letter when the “Caps Lock” is at the
lowercase/uppercase status.

10:
Inout: PS2_DATA, PS2_CLK
Input: rst, clk
Output: [6:0]LED, cap

Block diagram:
AR EEEZ(EFHLLT module THEE » 47 FI| & KeyboardDecoder ~ fsm [l Kz ASCII
code fi#EHEZS (display_decoder) ©

»

Y

PS2_DATA —»| ’
- —key_valid

e
1. KeyboardDecoder: [It module & §##% FHSREE AL 0] DATS- AL {2 5 5 Fii g
FHJENG% (keydown) ~ BT — (BRI E AV BEERS% (last_change) DL e % T B0
i A B R1EH SR (key _valid)
2. fsm: B3 E ARG FIET caps_lock F& 52 A R RLEN
3. /B key_down[89]#[] key_down[18]iF3% or gate 7 1% #EH 1% display_decoder &
{E§EEE EAm R (E shift f2 YRR A -
4. ASCIl code FRHESS: 155 [HA R « /NG R R AT EHRE SR ASCI
code > i@ /~fE LED | o

l > cap
clk f »

N —last_change | —> ; . -
rst KeyboardDecoder —cnangeTeTy fsm | cap l »| display_decoder ;—b LED

} [




Logic diagram:
fsm: FEiEE ARG HIET caps_lock #2582 I BLE) -

condition / cap

last_change == 8'h58 && key_valid / 1

—»

, else 1
elze /0 Q

last_change == 9'h58 && key_valid / 0 last_change == 8'h58 && key_walid / 1

else /0 else /1
last_change == O'h58 && key_valid / 0
(1) 0001 - caps_lock #4% N » EiEf caps_lock » cap=1 °
(2) 0110 > caps_lock FZ 54 G > cap=1 °
(3) 10>11 > caps_lock #3% ~ » [¢Ef caps_lock » cap=0
(4) 11—00 - caps_lock FZ 54 G > cap=0 °
i cap EHERHERE—{E LED fEAKZ H Al caps_lock HYIARE

ASCII code fERGEE: &8 AT /NS R AL AT FESY ASCIl

code » i#H~{E LED | o

last_change = 9'h1c(/\NES a) — letter=97,is_letter=1

last_change = 9'h32(/\NE5 b) — letter =98, is_letter=1

last_change = 9'h21(/NEf ¢) — letter=99, is_letter=1

last_change = 9'h23(/\E d) — letter = 100, is_letter=1
last_change = 9'h24(/\E5 e) — letter =101, is_letter=1
last_change = 9'h2b(/[NE5 f) — letter = 102, is_letter=1
last_change = 9'h34(/\E g) — letter =103, is_letter =1
last_change = 9'h33(/\E h) — letter = 104, is_letter=1
last_change = 9'h43(/\E i) — letter =105, is_letter=1
last_change = 9'h3b(/[\NET j) — letter = 106, is_letter =1
last_change = 9'h42(/\NE5 k) — letter =107, is_letter =1
last_change = 9'hdb(/[NE5 1) — letter = 108, is_letter=1



last_change = 9'h3a(/[N\E m) — letter =109, is_letter=1
last_change = 9'h31(/\NES n) — letter =110, is_letter=1
last_change = 9'h44(/NE 0) — letter =111, is_letter=1
last_change = 9'h4d(/\NES p) — letter =112, is_letter=1
last_change = 9'h15(/]NE q) — letter =113, is_letter=1
last_change = 9'h2d(/NES r) — letter = 114, is_letter=1

last_change = 9'h1b(/\ES s) — letter =115, is_letter=1

last_change = 9'h2c(/NE5 t) — letter =116, is_letter=1

last_change = 9'h3c(/NET u) — letter=117,is_letter=1

last_change = 9'h2a(/|N&E v) — letter =118, is_letter=1

last_change = 9'h1d(/\ES w) — letter =119, is_letter=1
last_change = 9'h22(/NE x) — letter =120, is_letter=1
last_change = 9'h35(/NE y) — letter=121,is_letter=1
last_change = 9'hla(/|NE z) — letter =122, is_letter=1

default: letter =0, is_letter=0

S B R R FE R/ NG Y ASCl code » FHEME N HINZ T 25 EE R H
REHAE KBS ASCII code ; is_letter FZRHIER % 88 & Ry Hrp — (S - BH%
> FHRE > Hiis_letter = O(LED 41K%) -

I

letter ———3'b100

letter - 7'd32 —— 3'b10+
letter - 7d32 D110 —/—— led
letter ——{3p111| 7

0 ——default

{is_letter shift,cap}
(shift Fyfe T gaE F shift 328809 key_down Ef5%)
‘& {is_letter,shift,cap} = 3'b100 — ANFEHITHIKE - led = letter -
‘& {is_letter,shift,cap} = 3’'b101 — FEZ K KES > led = letter- 32 -
‘& {is_letter,shift,cap} = 3’'b110 — FEF KK KES > led = letter- 32 -
‘& {is_letter,shift,cap} = 3’b111 — ANFEFIFHKE - led = letter -
HERIRILE is_letter = 0 » ELEIZEIAETHLF RNV — led = O(2HE) -

G DA > mTPLSERR— (AR A caps_lock Al shift eSS0 BEAUIN
55 MRS R EEFIHY ASCIl code BERAE LED _ERYIAAE ©



I/0 pin assighnment:

LED[6] LEDI[5] LED[4] LED [3] | LED[2] | LED[1] | LED[O]
ui4g uils W18 V19 u19 E19 ule
cap PS2_CLK PS2_DATA clk rst
L1 C17 B17 W5 R2
Conclusion:

Vil

BERENE—

g AR E (Rl AGRSE - BEZRERT AT LR SRR AR S -
BN R PR R ARSI S > NIt tE—EFER B - Frll
FEA S NG RAE T A /DI AR H AR S FR 156 =REHY FSM EERHEAEZ
A HAFIE RS E e - B E R R 7RSSR RN E (EE AGH
HeApa B - WSS R EABUR IR L - B R HEHY final project
A E REVER) -




